-Log Student's T-test pvalue S_K

Figure S1: Scatter plots of hBD3 samples
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Note that on/off proteins are not shown as significantly changed proteins as no valid fold change and p-value can be assigned to them.



-Log Student's T-test p-value R2_R3

Figure S1: Scatter plots of hBD3 samples (continued)
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-Log Student's T-test p-value R3_R4
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~Log Student's T-test p-value 4.

Figure S2: Scatter plots of CTAB samples
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Note that on/off proteins are not shown as significantly changed proteins as no valid fold change and p-value can be assigned to them.
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